MpuHagneXHocTH ANs WITOKA

NM g3
Kop 3akasa NA | NB NC ND NH NM | NP | NQ Marepuan l
FJM10x1.25YCJ | 18 | 20 | 10 | 40 | Mi0x1,25 | 10 | 20 | 52 j ;ﬁ — M
FJ-M12x1.25YCJ | 20 24 12 48 M12x1,25 12 24 62 VrnepoaucTas £ ] bt
FJ-M16x1.5YCJ 26 32 16 64 M16x1,5 16 32 83 fTaib s
FJ-M20x1.5YCJ 34 40 20 80 M20x1,5 20 40 105 [
FJ-M27x2YCJ 42 55 30 110 M27x2,0 30 55 148 |
(&}
o
=
[F
Kop 3akasa NA [ NB [ NC | ND | NE NH NM | NP | NQ Matepuan Nl':&%%?
|
FJ-M10x1.25YJ 18 [ 20 | 10 | 40 - M10x1,25 | 10 | 20 52 -
FJ-M12x1.25YJ 20 | 24 | 12 | 48 - M12x1,25 | 12 | 24 62 VEnenoauCTas o |8 I e
FJ-M16x1.5YJ 26 | 32 | 16 | 64 | - | Mi6x15 | 16 | 32 | 83 ey 29 | g
FJ-M20x1.5YJ 34 | 40 | 20 80 - M20x1,5 20 | 40 | 105 HEE
FJ-M27x2YJ 42 | 55 | 30 | 110 - M27x2,0 30 55 | 148
NH|
FJ-...1J T
Kop 3aka3sa NA NC ND NE NF NG NH NM Matepuan -
. FJ-M10x1.251J 20 10 40 52 15 20 | M10x1,25 10 ul
FJ-M12x1.251J 24 12 48 67 24 20 | M12x1,25 12 . £ Z__ i
FJ-M16x1.51J 32 16 64 89 32 23 M16x1,5 16 cpTaﬂ‘n: 4 4
FJ-M20x1.51J 40 20 80 112 40 30 M20x1,5 20 gl i
FJ-M27x21J 55 30 110 | 155 50 55 M27x2,0 30 N
_DNA_|
FJ-...FD
Kop 3aka3a MA | MB | MC | MD | ME | MF | MG |MH | MI/MJ MK Marepuan
z FJ-M10x1.25FD 58 22 7 21 | 26 | 11 | 6 [ 10 | M10x1,25 | 12°
o FJ-M12x1.25FD 58 22 8 21 | 28 |115| 7 |12 [ M12x1,25 | 12°
FJ-M14x1.5FD 70 | 225[ 85 | 28 |345| 16 | 8 [15 | M14x15 | 12°
FJ-M16x1.5FD 90 27 | 10 | 41 [445[ 19 | 8 |17 | MI16x15 7: 3akanéHHas
FJ-M18x1.5FD 92 27 | 10 [ 41 [445[ 21 | 11 |18 | M18x15 | 7 cTans
FJ-M20x1.5FD 102 | 29 | 13 | 46 | 53 | 22 [ 10 [ 22 | mM20x1,5 | 10°
FJ-M22x1.5FD 108 | 32 | 13 | 46 | 53 | 25 | 13 [ 22 [ M22x15 | 5° ”
FJ-M26x1.5FD 120 | 32 | 145525595 25 | 13 [ 27 [ M26x1,5 | 5°
FJ-M27x2FD 1365 ] 40 | 145 [525]595] 40 [135] 27 | M27x20 | 5°
FJ-...BJ 2x lWwpuia K
Kop 3akasa A B C |D|E| G H 1 [J|K|L| M Martepvan / L
FJ-M10x1.25BJ [ 57,5 | 44 [155[28[10| 8 [M10x1,25| 19 |25[17|14] 10,5
FJ-M12x1.25BJ | 66,5 | 51,5 | 17 [32|12| 95 [M12x1,25| 22 | 25|19 |16 12
[anbBaHn3npo-
FJ-M16x1.5BJ | 85 | 65 | 25 [40[16| 11 | M16x1,5 | 27 [35]24]21] 15
BaHHaA cTanb
FJ-M20x1.5BJ | 102 | 77 | 30 [50[20]12,5| M20x1,5 | 34 |40[30]| 25| 18
FJ-M27x2BJ 145 | 109 [405[70[30] 185 M27x2.0 | 50 [ 604337 25
Marepuan Kop 3akasa Marepuan Kop 3akasa
Hepxasetowasn CRSG-M10x1.25 HepxaBetowyas CRSGS-M10x1.25
ctanb SS304 CRSG-M12x1.25 £ cTanb SS304 CRSGS-M12x1.25

CRSG-M16X1.5

CRSG-M20x1.5

CRSG-M27x2

@

CRSGS-M16X1.5

CRSGS-M20x1.5

CRSGS-M27x2

17





